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EEIEE 168, 642, 267
EEE(-12m) 168, 642, 267
HE@T 18,352, 144
EMERT 18,352, 144
HigeR 6,988, 824
1-1 #BAEFAIC HR5~100ke/fETRE 859. 00 8,136 6, 988, 824
m3
BEAEL 10, 328, 146
1-2 #ERAHL (+)5cm % A5~100kg/BIEE (KF10~15mk 478. 00 21, 607 10, 328, 146
! m2
BERHL 1,035, 174
1-3 BAEHL (£)30cm #FE5~100kg/EREE (KFE10~15m%k 98.00 10, 563 1,035, 174
#) m2
AET (57— oR] 145, 388, 352
=y UEKERT 126, 940, 354
= 2,906, 554
1-4 —v DR EERT - B (1) 1, 310t/B (I ER) 6.00 416, 992 2,501, 952
&
1-5 7—v DR E EE8RT - B (2) 521t/E6 (BRBIEL (T ERD) 1.00 404, 602 404, 602
&
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5
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1-8 r—v U RE() 1310t/r (FZHEER) 4.00 13, 435, 677 53,742,708
&

1-9 —v URE (2) 521t/% (RAAIE{FERQ) 1.00 13, 293, 520 13, 293, 520
&

T 32, 400, 335

1-10 —v U 1310t/ (FZHEER) 2.00 13, 435, 677 26, 871, 354
&

1-11 =y oEHEREEBELAR) 3) s, 1, 310t/BK (FZ#EER) 1.00 5,528, 981 5,528,981
[

R 2,573, 950

1-12 Bl 5|fa4, 000PSE! . 5|13, 000PSE! 1.00 2,573, 950 2,573, 950
=

hEET 15,701,914

B - AM i 15,701,914

1-13 hEMITFA GRGBRAEL) £ (r sat=20kN/m3) 2,985.00 5,160 15, 402, 600
m3

1-14 FEHL 218.00 1,373 299, 314
m2

£J0v5T 2,746, 084

EJ0v o8k 1,594, 941

1-15 L—T 4 VT HER 173.00 594 102, 762
m2

1-16 SN THEIL SD345 D13 1, 648.00 193 318, 064
kg

1-17 REEFHHE 16 SS400 L=1, 200mm 64.00 820 52, 480
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1-18 mekmflaL 128.00 95 12,160
kg

1-19 4§ & 89448 ST 4R 41 44.00 4,730 208, 120
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1-20 o> )— TR 18N-8-40BB  W/C=65% 35.00 25,753 901, 355

m3
EJ0vER 821,968
1-21 70y Y&l - B 2R EL—EAR 16. 00 51,373 821,968

{&
MigEa> o )—+ 329,175
1-22 av9)— FERB#E N \7Y F) 9.00 9,847 88, 623

m3
1-23 a9 J—MTERUNT Y F) 18N-8-40BB  W/C=65% 9.00 26,728 240, 552

m3
ZiA-EET 4,901,771
=AT 4,901,771
B #h4k 974,271
1-24 FHE> B #haRER{T (1) fE L &R 11.00 14, 807 162, 877

m
1-25 FHE> B #hARER{T (2) KepEp 31.00 26,174 811,394

m
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&l
1-30 ZLViE (2) R EEA GEMIEE)DIS0tR . NRE~FARE (18 1.00 489, 963 489, 963
) m
2L 704, 097
REREK 704, 097
1-31 REEBEM 1.00 704, 097 704, 097
=
BirEEE 452, 800
Bt 452, 800
1-32 EiTEEE HREPRAAT(ISE) . FMAZTCH) . 24007 1.00 452, 800 452, 800
FE(NTE) .
=
BEiZHEE 1, 602, 006
BIEEH 1, 602, 006
TILTF E— LR 1, 602, 006
ICTERT ETHE) 1,562, 006
BIE%E 300, 890
2-1 BlE %4 (1CT) 1.00 181, 244 181, 244
=
2-2 HEMIEM QEERY) 1.00 119, 646 119, 646
=




BHHEENRE SFN6ERE I BRI & B (-12m) i TE(HEIR)

% g - KSR B % =2 B i & &8 W ZE

KRB = 646, 320
2-3 & T Xk (ICT) 1.00 642,121 642,121

=
2-4 GBIz (1CT) 0.01 419, 995 4,199

km2

BE 614, 796
2-5 EIBFT—% 2 (ICT) 1.00 614, 796 614, 796

=
BEiEEE 40, 000
BE 40, 000
2-6 ZBHRRSR 1.00 40, 000 40, 000

=
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ICTERT 267, 285
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£ b B - KT B % =2 L] ® & W=
EEIEE 168, 642, 267
BEIER 221,851,120 + 92,039, 291 313,890, 411
HBERERE GH 205,796,377 + 15,177,804 + 876, 939 221,851,120
HBREE (HLE) 205, 796, 377
HBEREE (X ) 168, 642,267 x 9.00% ((4.36% x1.68 +1.50%) x 1.02) 15,177, 804
BSRENER 168, 642, 267 x 0.52% 876, 939
RiSEER 390, 493,387 x 23.57% ((21.72% +1.16%) x 1.03) 92, 039, 291
TR 168, 642, 267 + 313,890, 411 482,532, 678
—REBEES 482,532,678 x 13.69% (13.69% x 1.00) — 4,414 66, 054, 309
LERIE 482,532,678 x 0.04% 193,013
THAf4E 482,532,678 + 66,054,309 + 193,013 548, 780, 000
EEAEE 1,602, 006
B 1,602,006 x 80.5% — 1,620 1,287,994
REBEE 1,602,006 + 1,287,994 2,890, 000
BB E TS 2,890, 000
E R 259,500 + 7,785 267, 285
EEAGE 259, 500
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EERE 7,785
T DAt R f 259,500 x 53.85% ( 35% = (1 — 35%) ) 139, 740
e i 267,285 + 139,740 407, 025
—REEES 407,025 x 53.85% (35% = (1 — 35%) ) — 6,207 212, 975
ES {id 407,025 + 212,975 620, 000
BEHEE 548,780,000 + 2,890,000 + 620, 000 552, 290, 000
HERERLE 552, 290,000 x 10.00% 55, 229, 000
EATISE 607, 519, 000
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B BERACT) #A5~100kg/EIRE 1000m3 &Y
2 b g - BIRTE BT o = BHO(f ® # " =
BR #A5~100ke/AFRE
m3 1, 300. 00 6, 000. 00 7, 800, 000
Bkt D 270PSE! 3~5tH
B 1.44 189, 201. 00 272,449 8H
HEIEEIRT L ICTERT ERKRA)
B 1.44 16, 302. 00 23,474
MR 2E0%
% 0.50 8,095, 923. 00 40, 479
& B YEZERES - 1,000.00m 3 8,136.00 8, 136, 402
&5 :1-2
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2 b g - BIRTE BT H = BHO(f ® # " =
Bkt D 270PSE! 3~5tH
B 1.00 189, 201. 00 189, 201 8H
MR ELNOY
% 0.50 189, 201. 00 946
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&% BAERHL  (£)30cm #E5~100kg/ERRE  (KIFE10~15mKH) 1B&Y (18m2)
2 b g - BIRTE BT H = BHO(f ® # " =
Bkt D 270PSE! 3~5tH
B 1.00 189, 201. 00 189, 201 8H
MR EXENOY
% 0.50 189, 201. 00 946
& B YEZERESN : 18.00m 2 10, 563. 00 190, 147
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&5 :1-4
B r—V UEMBALESEERMA - o (1) 1, 310t/ EEEER) 1LY
2 b g - BIRTE By = BHO(f ® % W = " =
L EmtEs yL—rtkE
B 1.00 99, 840. 00 99, 840
STFL—29L—r A AR ER) GhE i D) 45t R
B 0.30 91, 800. 00 27,540 8H
EEE M GEfEE) $AD 150t H
B 0.20 1,038, 821. 00 207,764 /4.00H / 8H
5 fia £MD 1500PSZY
B 0.20 409, 241. 00 81,848/2.00H / 8H
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&5 :1-5
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L EmtEs yL—rtkE
B 1.00 99, 840. 00 99, 840
STFL—29L—r A AR ER) ChEfES IR 16tH
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EEE M GEfMEE) $AD 150t H
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B 1.00 9,929, 983. 00 9,929,983 /4.00H / 8H
B $D 25t
B 1.00 883, 267. 00 883, 267 8H
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BIAY—O—J(IELY)RE - y—v |& ¢ 80mm
VRELEE#MA] B 1.00 116, 160. 00 116, 160
TEEE(EZY) ME - 7—Y o RBEL 100tE
FREHMA] B 1.00 34, 440. 00 34, 440
MR 2E0%
% 0.50 11, 002, 950. 00 55,014
& B 1YEZHEH - 1.00[E 11, 057, 964. 00 11, 057, 964
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B r—Y VR ER(RELAR) (2) ET. 521t/ (GRAIERTERQ) HEED)
2 b g - BIRTE By = BHO(f ® W = " =
EE#MR GEMERE) $MDE 3000t F
B 1.00 9,929, 983. 00 9,929,983 /4.00H / 8H
B $AD 25t
B 1.00 883, 267. 00 883, 267 8H
REE(EHLSY)EHE -y —YUoRELE y—Y2E=Z1,000tH
EHMmA] B 1.00 29, 600. 00 29, 600
BIAY—O—J(IELY)RE - y—v |& ¢ 80mm
VRELEE#MA] B 1.00 58, 080. 00 58, 080
TEEE(EZY) ME - 7—Y o REL 100tE
FEHMA] B 1.00 9, 840. 00 9, 840
MR 2E0%
% 0.50 10, 910, 770. 00 54, 553
& B 1YEZHER - 1.00[E 10, 965, 323. 00 10, 965, 323
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B 1.00 9,929, 983. 00 9,929,983 /4.00H / 8H
5 fia D 4000PSEY

B 1.00 1,016, 722. 00 1,016,722 2.00H / 8H
5 fia §fD 3000PSEY

B 1.00 802, 358. 00 802, 358/2.00H / 8H
Eiffe $D 25t A

B 1.00 883, 267. 00 883, 267 8H
Bkt D 270PSE! 3~5tm

B 1.00 189, 201. 00 189, 201 8H
LU

A 6.00 217,870.00 167, 220
LTEEXE

A 6.00 20, 700. 00 124, 200
REE(EHLSY)EHE -y —YUoRELE (y—Y2E=ZI1,600tH
EHmA] B 1.00 39, 100. 00 39,100
BIAY—O—J(IELY)RE - 4y—Y |& ¢ 80mm
VRELEE#MA] B 1.00 116, 160. 00 116, 160
TEEE(EZY) ME - 7—Y o RBEL 100tE
EERMA] B 1.00 34, 440. 00 34, 440
MM 2E0%
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B 1.00 802, 358. 00 802, 358 2. 00H / 8H
B $8D 25t
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B 1.00 189, 201. 00 189, 201/8H
LU
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LTEEXE
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EE#MR GEMERE) £MDE 3000t

B 1.00 9,929, 983. 00 9,929,983 /4.00H / 8H
5 fia D 4000PSEY

B 1.00 1,016, 722. 00 1,016,722 2.00H / 8H
5 fia §fD 3000PSEY

B 1.00 802, 358. 00 802, 358/2.00H / 8H
Eiffe $D 25t A

B 1.00 883, 267. 00 883, 267 8H
Bkt D 270PSE! 3~5tm

B 1.00 189, 201. 00 189, 201 8H
LU

A 6.00 217,870.00 167, 220
LTEEXE

A 6.00 20, 700. 00 124, 200
REE(EHLSY)EHE -y —YUoRELE (y—Y2E=ZI1,600tH
EHmA] B 1.00 39, 100. 00 39,100
BIAY—O—J(IELY)RE - 4y—Y |& ¢ 80mm
VRELEE#MA] B 1.00 116, 160. 00 116, 160
TEEE(EZY) ME - 7—Y o RBEL 100tE
EERMA] B 1.00 34, 440. 00 34, 440
MM 2E0%

% 1.00 13, 302, 651. 00 133, 026
& B 1YEZHERN - 1.00B" 13, 435, 677. 00 13, 435, 671
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&5 1-11
B r—Y VR ER(RELAR) ) Est. 1, 310t/ Z#EER) H=EPR)
£ 5 L - BIRTiE BAf H = L= i & # = " =
EEHMN CGEMEE) $HDE 3000t F
B 0.50 9,929, 983. 00 4,964,991|4.00H / 8H
2Ty $ED 25tH
B 0.50 883, 267. 00 441,633 8H
REE(EHLSY)EHE -y —YUoRELE (y—Y2EZI1,600tH
EHMmA] B 0.50 39, 100. 00 19, 550
BIAY—O—J(IELY)RE - y—v |& ¢ 80mm
VRELEE#MA] B 0.50 116, 160. 00 58, 080
TEEE(EZY) ME - 7—Y o RBEL 100tE
FREHMA] B 0.50 34, 440. 00 17,220
HEMH EXENOY
% 0.50 5,501, 474.00 21,507
& B 1YEZHEH - 1.00[E 5,528, 981.00 5,528, 981
5 :1-12
L% : SIfRHIER  SIH04, 000PSEY, 313, 000PSHEY 1%Ly
£ 5 L - BIRTiE BAf H = L= i & # = " =
Clk:] £MD 4000PSZY
B 2.50 570, 740. 00 1,426, 850 #tA
Clk:] £MD 3000PSZY
B 2.50 458, 840. 00 1,147,100 #tA
& B 1E%HeH - 1.00K 2,573, 950. 00 2,573,950
&5 1-13
BF  PEMBAGRBEERAEL) B (rsat=20kN/m3) 1000m 34 Y
£ 5 L - BIRTiE BAf H = L= i & # = " =
hREEHM v sat=20kN/m3
m3 1,200. 00 4, 300. 00 5, 160, 000
& B YEZERES - 1,000.00m 3 5,160. 00 5, 160, 000
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BE . 1-14
&% PEESL 100m2% Y
% 5 L - BIRTiE BAf H = B & % i & &
TEFEE
A 6. 60 20, 700. 00 136, 620
HEMH 2EDY
% 0.50 136, 620. 00 683
& B YEZERES : 100.00m 2 1,373.00 137, 303
&S . 1-15
B IL—T 1 VTR 100m2% Y
% 5 L - IRTiE BAf H = B & # i & &
=24 T8
m2 100. 00 556. 00 55, 600
PRARAR 957 MR
m2 120. 00 32.00 3, 840
& B YEZERES : 100.00m 2 594. 00 59, 440
&S . 1-16
L . $kERMNIT#ESL SD345 D13 1000k g4 1)
% 5 L - BIRTiE BAf H = B & % i & &
% (2 SD345 D13
k g 1,020. 00 110. 00 112, 200
AT (LELTa vy 8 yL—rtkE
k g 1,000. 00 75.92 75, 920
STFL—r9L—r A ARER) GhEmRiES JE) 16tH
B 0.10 50, 500. 00 5, 050 8H
& Hi YEZERESN - 1,000.00k g 193. 00 193,170
=5 1-17
£ REHHEE ¢16 SS400 L=1,200mm 1A%y
% 5 L - BIRTiE BAf H = B & % i & &
R EkEh ¢$16 SS400 L=1, 200mm
ZN 1.00 820. 00 820
& B YEZERED 1. 00K 820. 00 820
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&5 . 1-18
L mEARHAL 1000k g4
2 b g - BIRTE BT o = B O %8 # " =
BEkE - m/N—#L KA EI8MEKHE Y L— R E
k g 1,000. 00 90. 48 90, 480
STFL—29L—r A AR ER) ChEfES IR 16tH
B 0.10 50, 500. 00 5, 050 8H
& Hi YEZHeH : 1,000.00k g 95. 00 95,530
&S . 1-19
£ SRB AN 100m2 %Y
2 b g - BIRTE BT H = B O %8 # " =
SHB R AT AR S (TR ELME) yL—rtkE
m2 100. 00 4,326.00 432, 600
STFL—29L—r A AR ER) ChEES IR 16tH
B 0.80 50, 500. 00 40, 400 8H
& Hi YEZERES : 100.00m 2 4,730.00 473, 000
&5 :1-20
& avH)—3iTEk  18N-8-40BB  W/C=65% 10m3%HY
2 b g - BIRTE BT H = B O %8 # " =
LT4—3HRbarvy)—+F 18N-8-40BB  W/C=65%
m3 10.10 22,100. 00 223,210
a9 1) — MTER (FHREE) avyy—hrIEXYy—H
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BH6EENINEEEBR)FE-12mEETEEIR)

1BHY (2718

2 b g - BIRTE By = BHO(f ® W = " =
EEE M GEfEE) $AD 120t H
B 1.00 999, 738. 00 999, 738 /6. 00H / 8H
5fin £MD 700PS#EY
B 1.00 241,911.00 241,911/2.00H / 8H
U
A 2.00 217,870.00 55, 740
LTEEXE
A 4.00 20, 700. 00 82, 800
MR EXENOY
% 0.50 1, 380, 189. 00 6, 900
& B YEZRES - 27. 001@ 51,373.00 1,387, 089
&5 :1-22
W avy)—EREBEENTY L) 100m3ZY
2 b g - BIRTE By = BHO(f ® W E " =
EEE M GEfMEE) $AD 30t&H
B 1.60 437, 201. 00 699, 521/4.00H / 8H
5fin £MD 350PS#EY
B 1.60 140, 823. 00 225,316/2.00H / 8H
avyy—rtn\gry bk 5. 0m3
B 9. 60 5, 730.00 55, 008
MR EXENOY
% 0.50 979, 845. 00 4,899
& H 1EZ8EH : 100.00m 3 9, 847. 00 084, 744
&5 :1-23
A3y J— TR OGNy k) 18N-8-40BB  W/C=65% 100m3ZY
2 b g - BIRTE By = BHoO(f ® W = " =
LT4—3HRbary)—+F 18N-8-40BB  W/C=65%
m3 104. 00 22,100. 00 2,298, 400
a9 1) — T (EETEE) BTy k- BEANATY F
m3 100. 00 3,744.00 374, 400
& Hi YEZERES : 100.00m 3 26, 728. 00 2,672,800
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&5 :1-24
%5 BhRD B HhaRERST (1) BELER 100m& Y
£ b g - BIRTE BT o = BHO(f ® # " =
FrHd B ik t=5~ 6mm
m 103. 00 6, 860. 00 706, 580
ik T=6. Omm B=65mm
k g 660. 00 133.00 87, 780
Bh5D B iR B (FELiET)
m 100. 00 6, 864. 00 686, 400
& Hi YEZERESD : 100. 00m 14, 807. 00 1,480, 760
&5 :1-25
¥ BhED B HhARERST (2) KepEB 100m& Y
£ b g - BIRTE BT H = BHO(f ® # " =
Fr5d B ik t=5~ 6mm
m 103. 00 6, 860. 00 706, 580
AR T=6. Omm B=65mm
k g 660. 00 133.00 87, 780
B58D B iR B (KepfET)
m 100. 00 18, 231. 00 1,823, 100
& Hi YEZERESD : 100. 00m 26, 174. 00 2,617,460
=5 :1-26
£ BAMEBA (EERA)  10~20mkKH 1000m 34y
£ b g - BIRTE BT H = BHO(f ® # " =
BR HA5~100kg/ERRE
m3 1, 250. 00 6, 000. 00 7,500, 000
Bk D 270PSE! 3~5tH
B 1.67 189, 201. 00 315, 965 8H
MR EXENOY
% 0.50 7,815, 965. 00 39,079
& B YEZERES - 1,000.00m 3 7, 855. 00 7, 855, 044
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BH6EENINEEEBR)FE-12mEETEEIR)

&5 . 1-21
&% BEfE (1) REMM GEMLEE)DES, 000t F. H#IES~ NS (R HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 12,075, 000. 00 12,075, 000
EX T
= 1.00 18, 289, 032. 00 18, 289, 032
B
= 1.00 66, 136, 500. 00 66, 136, 500
Elf R & F
= 1.00 3,359, 045. 00 3,359, 045
BmEH
= 1.00 496, 000. 00 496, 000
wE%E
= 1.00 1,474, 200. 00 1,474, 200
& B 1YEZHEH - 1.00[E 101, 829, 777. 00 101, 829, 771
&5 :1-28
&% BfnE (2) REMM GEMLEE)DE3, 000tH. JIRE~HEES (BER) HEED)
2 b g - BIRTE By = B O ® # " =
BEE
= 1.00 12,075, 000. 00 12,075, 000
EX T
= 1.00 18, 289, 032. 00 18, 289, 032
B
= 1.00 66, 136, 500. 00 66, 136, 500
Elf R & F
= 1.00 3,359, 045. 00 3, 359, 045
BmEH
= 1.00 496, 000. 00 496, 000
wE%E
= 1.00 1,474, 200. 00 1,474, 200
& B 1YEZHER - 1.00[E 101, 829, 777. 00 101, 829, 771
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BH6EENINEEEBR)FE-12mEETEEIR)

&5 :1-29
B ZVVRE (1) EE#MK GEfMEE)DIS0tHR., FMARE~ RN () HEED)
2 b g - BIRTE By = BHO(f ® W = " =
EX T
= 1.00 215, 363. 00 215, 363
B
= 1.00 274, 600. 00 274, 600
& B 1YEZHEH - 1.00[E 489, 963. 00 489, 963
= :1-30
B ZVVRE () EE#MK CGEfMEE)DIS0tHR. NINE~MARE (R HEED)
2 b g - BIRTE By = BHO(f ® W E " =
EX T
= 1.00 215, 363. 00 215, 363
B
= 1.00 274, 600. 00 274, 600
& B 1YEZHER - 1.00[E 489, 963. 00 489, 963
&5 : 1-31
£ REEEM” 1LY
2 b g - BIRTE By = BHO(f ® W E " =
ZEEEMm FRP D 180PS#Y
B 7.00 100, 085. 00 700, 595 6. 00H / 8H
MR 2E0%
% 0.50 700, 595. 00 3, 502
& B 1E%HeRH - 1.00K 704, 097. 00 704, 097
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BH6EENINEEEBR)FE-12mEETEEIR)

&5 :1-32
2% HiTEEE FEREIRAZT(IS). FHEAZTCH) . = AENIRE) 14y
2 b g - BIRTE By = B O ® # " =
HREINAE
I=E 1.00 100, 000. 00 100, 000

HREE EBRT (BEHEA)

“ 1.00 102, 600. 00 102, 600
HREE AEL (5r—v AR

“ 1.00 102, 600. 00 102, 600
HREE IOy EAT

“ 1.00 102, 600. 00 102, 600
EZRYUITRE

I 1.00 45, 000. 00 45, 000
& Hi 1YE%HeH - 1.00K 452, 800. 00 452, 800
&5 :2-1
£ %5 BI= %4 (1CT) 1LY
2 b g - BIRTE By = B O ® # " =

BIEFEHEM

A 1.00 54, 600. 00 54, 600
RIS HRER

A 1.50 47,100. 00 70, 650
Bl S H A

A 1.00 36, 900. 00 36, 900
BEBF

A 0.50 34, 600. 00 17, 300
MR 2E0%

% 1.00 179, 450. 00 1,794
& B 1E%HeH - 1.00K 181, 244.00 181, 244
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BH6EENINEEEBR)FE-12mEETEEIR)

&5 .22
£ BEAERR QFEESY) 1K%Y
£ b g - BIRTE By = B ® W = & &
BIEWHEE
A 2.00 25, 900. 00 51, 800
vy 2t
A 2.00 33,331.00 66,662 4. 70H / 8H
MM 2RD%
% 1.00 118, 462. 00 1,184
& i 1EZBERN - 1.00 119, 646. 00 119, 646
&5 :2-3
£F5 : BETX K C 1%Ly
£ Eu g - BIRTE By = B ® W E & &
REBHE 54 kY 2
=] 1.00 3,588.00 3,588 2.00H / 8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.50 47,100. 00 70, 650
Bl S H A
A 1.50 36, 900. 00 55, 350
BEENF
A 1.00 34, 600. 00 34, 600
BIEf FRP D 70PSZ!
=] 1.00 51, 336. 00 51, 336 8H
GNSS:AIfI £ & DGNSS
=] 1.00 25, 740. 00 25, 740
TILF E—LEEBIEE 36~455kHz
=] 1.00 339, 900. 00 339, 900
MM 2RD%
% 1.00 635, 764. 00 6, 357
& i 1EZBER - 1.00 642,121.00 642,121
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BH6EENINEEEBR)FE-12mEETEEIR)

&5 :2-4
&5 BIEE(ICT) 1B%Y (1.4km2)
2 b g - BIRTE By = B O ® W = " =
REE S4 kY 2L
B 1.00 3, 588.00 3,588/2.00H / 8H
BIEf FRP D 70PSZE!
B 1.00 51, 336. 00 51,336 8H
BIEFEHEM
A 1.00 54, 600. 00 54, 600
RIS HRER
A 1.00 47,100. 00 47,100
Bl S H A
A 1.00 36, 900. 00 36, 900
BEBF
A 0.50 34, 600. 00 17, 300
GNSS;BIfI & DGNSS
B 1.00 25, 740. 00 25,740
TILFE—LBERZEE 36~455kHz
B 1.00 339, 900. 00 339, 900
MR 2E0%
% 2.00 576, 464. 00 11, 529
& B EEREN 1.40km 2 419, 995. 00 587,993
&5 :2-5
& BIFT—2 28 (ICT) 14y
2 b g - BIRTE By = B Ol ® W E " =
BIEFEHEM
A 3.10 54, 600. 00 169, 260
RIS HRER
A 4.10 47,100. 00 193, 110
Bl S H A
A 6. 20 36, 900. 00 228, 780
MR 2E0%
% 4.00 591, 150. 00 23, 646
& B 1E%HeH - 1.00K 614, 796. 00 614, 796
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BH6EENINEEEBR)FE-12mEETEEIR)

&5 :2-6
2% EBHRRA 1LY
2 b g - BIRTE By = B O ® # " =
EBHRERERE
= 1.00 40, 000. 00 40, 000
& Hi 1YE%HeRH 1,00 40, 000. 00 40, 000
&5 : 3-1
ZFF : SRFTEET T — R HERK (ICT) s EP
2 b g - BIRTE By = B O ® # " =
FEHRAR (F%ET)
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
e (B)
A 1.50 47, 200. 00 70, 800
AR (C)
A 1.00 38, 400. 00 38, 400
& Hi 1E%HEDN 1. 00HEER 259, 500. 00 259, 500
&5 :3-2
&% EHARE 1LY
2 b g - BIRTE By = B O ® # " =
EXERARE
= 1.00 7,785.00 7,785
& Hi 1E%HeRH - 1.00K 7,785.00 7,785
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